do/dAn [mb]

1072

Ratio to Herwig 7.2.0 default
[N

0.5

70

OQ va pp

(b, > 0.2 GeV)

v
e
= E_EEF--_""—-——-—
- RO e
'vvﬂhhﬂdhhﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂmmmmmm. ....... A

| Spft QCD

[ * |
=" L E
~ --£3-- Herwig 7.2.0 default .‘;“ —
| —a— Pythia 8.170 default ¥, Hl
= - ¢ Sherpa 1.4.3 default ¢¢ =
:l —1 | | | | | | | | | | | | | | | | | | [ |:
:l T T T T | T T T T | T T T T | T T T T |:
| E| 1 " | " 1 1 1 1 | " 1 1 1 1 " |
0 10 15 20

Rivet 3.1.0, = 5.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


